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1
( 98 32 50)

4

1
49 2 16 2 25 2

4

1
7 2 4 2 5 2

4

2[7 1 5]

2 [7 6]

2 1.4142

 

     

   

  

  

 

92. Ans. (1)

Solution:
         

2 2

2

x 7 4 3

x 4 3 2 4 3

x ( 4) ( 3) 2. 4 3

x ( 4 3)

 

   

   

 

x 4 3 2 3   

1 1 2 3
2 3

x 2 3 2 3


   

 

1
x

x


2 3 2 3 4    
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93. Ans. (2)

Solution:
         

0.676 4.84
x

1.21 0.169

26 22
x

11 13

x 4













x 4

x 2





94. Ans. (3)

Solution:
         

9

+9

189

9

1989

9

99

999999

81

1899

1701

19899

17901

1998

= 999999 - 1998 = 998001

95. Ans. (2)

Solution:
         

4

4

89

9

49

2450

16

850

801

49

= 
2(50) 2450

2500 2450 50



  

96. Ans. (4)

Solution:
         

4 8 2 15
(8 2 15)

8 2 15 8 2 15

4(8 2 15)
8 2 15

64 60

8 2 15 8 2 15 4 15


  

 


  



    

97. Ans. (4)

Solution:
         

42 42 42 .....  

42 6 7  

42 42 42 .... 7   

74 700 7

74 4900

74 70 144 12

 

 

   

Way II

x 42 42 42 .....   

         

2

2

2

2

x 42 42 42 42 .....

x 42 x

x x 42 0

x 7x 6x 42 0

x(x 7) 6(x 7) 0

(x 6) 0 x 6

x 7 0 x 7

    

 

  

   

   

    

   
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98. Ans. (2)

Solution:
         

n 
n

2

n 1

2



n

2

n 1

2



12102420121 

11 1 12
6

2 2


  

99. Ans. (3)

Solution:
         

x 

3

1

2

1

3

1 1

2 3

1

6

x 2 x

x
2

x

x 2

x 2



 

 

 

 

         

1

6 66

6

(x ) 2

x 2

x 2 2 2 2 2 2 64





      

100. Ans. (4)

Solution:
         

2 2

2 2

2 2

2 3 2 2 3 (2) ( 2 2 3 )

2 3 2 2 3 4 2 2 3

2 3 2 2 3 2 2 3

2 3 (2) ( 2 3 )

2 3 (4 2 3)

2 3 2 3

(2 3)(2 3)

(2) ( 3)

4 3

1

 
        

  

        

       

 
      

    

   

  

 

 



101. Ans. (3)

Solution:
         

n 
2n(n 1)(2n 1)

3

 

n 

n(2n 1)(2n 1)

3

 

2 2 2 2 22 4 6 8 ...... 20    

2 10(10 1)(2 10 1)

3

20 11 21
1540

3

   


 
 
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91. Ans. (1)

Solution:
         

35 x 3 

3

3

1

3

5 x 9

x 9 5 4

x 4

x 64

 

   

 

 

103. Ans. (3)

Solution:
         

33 3

3 3 3

3 3 3

3 3 3

3

3

2 8 2 3 2 125 2

3 27 2 2 64 2 1000 2

2 2 2 3 2 5 2

3 3 2 2 4 2 10 2

2[4 3 5] 6

112[9 8 10]

    

    

  


     

 
 

 

104. Ans. (2)

Solution:
         

3 5 4

5 4 3

 

 

1 1
1

2 2
 

105. Ans. (4)

Solution:
         

3 3729000 729 1000

9 10 90

 

  

106. Ans. (3)

Solution:
         

7 15
5

7 3

3
1 5

15

1
1 5 1

5

 

  

   

107. Ans. (1)

Solution:
         

2
2 a 1

x x 1
a

2 1
x x a 1

a

2 x
x ax 1

a
   

1
x(x a) (x a)

a

1
(x a) x

a

108. Ans. (2)

Solution:
         

(a + b)2 = a2 + 2ab + b2 

a = x + 2y, b = y + z 

(x + 2y + y + z)2 = (x + 3y + z)2

109. Ans. (3)

Solution:
         

x (x4 – 1)

= x (x2 + 1) (x2 – 1)

= x (x2 + 1) (x + 1) (x – 1)

110. Ans. (*)

Solution:
         

an + bn n (a + b) 

(4743 + 4343) (4747 + 4347) 

(47 + 43) 

111. Ans. (2)

Solution:
         

(x + y)3 – (x3 + y3)

= x3 + y3 + 3x2y + 3y2x – x3 – y3

= 3x2y + 3y2x

= 3xy (x + y)
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112. Ans. (1)

Solution:
         

p(x) = x4 – 4x2 + x3 + 2x + 1

x – 1 1 

P(1) = (1)4 – 4(1)2 + (1)3 + 2(1) + 1

           = 1 – 4 + 1 + 2 + 1

           = 5 – 4 = 1

113. Ans. (1)

Solution:
         

p
1
(x) = x3 + x2 – 4x + a, p

2
(x) = 2x3 + ax2 + 3x – 3

x – 2 2 

p
1
(2) = (2)3 + (2)2 – 4(2) + a = 8 + 4 – 8 + a = 4 + a 

p
2
(2) = 2(2)3 + a(2)2 + 3(2) – 3 = 2 × 8 + 4a + 6 – 3 =

19 + 4a

p
1
(2) = p

2
(2)

4 + a = 19 + 4a  3a = –15  a = –5

114. Ans. (3)

Solution:
         

x – 5, p(x) = x3 – 3x2 + ax – 10 

 p(5) = 0 

p(5) = (5)3 – 3(5)2 + a(5) – 10 = 0

125 – 75 + 5a – 10 = 0

40 + 5a = 0

40
a

5

a = –8

115. Ans. (2)

Solution:
         

x3 + 6x2 + 11x + 6

x3 + 3x2 + 3x2 + 9x + 2x + 6

x2(x + 3) + 3x(x + 3) + 2(x + 3)

(x + 3) (x2 + 3x + 2)

(x + 3) (x2 + x + 2x + 2)

(x + 3) [x(x + 1) + 2(x + 1)]

(x + 3) (x + 1) (x + 2)

x = –1, –2, –3

116. Ans. (1)

Solution :
         

11 × 11 = 121

11 × 11 × 4 = 484

117. Ans. (4)

Solution :
         

1 1 1
3

3 3 3
3

7 7 1 1 1

875 875 125 5 5

118. Ans. (2)

Solution :
         

3 3321 59 16 729 21 59 16 9

3 321 59 25 21 64 21 4 21 5

119. Ans. (1)

Solution :
         

  x2 – ( +

) x +  x2 –  × x + 

[
1

( )
4

2 1 1
x x

4 4

2 1 1
x x

4 4

4x x 1
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120. Ans. (2)

Solution :
         

f(x) = x2 + (a + 1)x + b

x = 2 

(2)2 + (a + 1) × 2 + b = 0

4 + 2a + 2 + 6 = 0

2a + b = –6 ...(i)

x = –3 

(–3)2 + (a + 1) × –3 + b = 0

9 + (–3a) – 3 + b = 0

9 – 3a – 3 + b = 0

–3a + b = –6 ...(ii)

(i) (ii) 

2a + b = –3a + b

5a = 0

a = 0

–3a + b = –6

0 + b = –6

b = –6

121. Ans. 3
         



122. Ans. 4
         



2NaCl + 2H
2
O  2NaOH + Cl

2
 + H

2

123. Ans. 3
         



124. Ans. 1
         



125. Ans. 3
         



126. Ans. 4
         









127. Ans. 3
         



128. Ans. 3
         



129. Ans. 1
         

 Cu 

Cu

130. Ans. 3
         

 H
2
O

2
 

H O2 2

–1

131. Ans. 4
         



PbO + C Pb + CO2

+2 0 0 +4

Pb 

C Pb 

C 
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132. Ans. 2
         



Ag
2
S

133. Ans. 4
         

 Al, Fe 

134. Ans. 3
         

 2Pb(NO
3
)

2
  2PbO + 4NO

2
 + O

2

2, 2, 4, 1 

135. Ans. 3
         

 CaO Ca(OH)
2
 

136. Ans. 4
         



137. Ans. 3
         

 CaO + H
2
O  Ca(OH)

2

Ca(OH)
2
 

138. Ans. 1
         



139. Ans. 3
         



140. Ans. 4
         









141. Ans. 3
         



FeSO
4
 · (NH

4
)

2
SO

4
 · 6H

2
O

142. Ans. 2
         



143. Ans. 1
         

 HCl 

144. Ans. 2
         



145. Ans. 4
         



146. Ans. 1
         

 HCl 

HCl 

147. Ans. 1
         



148. Ans. 2
         

 = 

149. Ans. 3
         



150. Ans. 2
         




